griddle Equation 0-2-5 2

In this 0-2-5 variation, 10+ 7+ 2+ 4+ : 7+
each small grid is § : ; : : §
paired with a large grid o ' — 4 e ——1 : —t :
whose answer is the : :

same.

In the small grid, each _ :
shape must COI’It.aITI """""""""" o+ | : ; x | 7+ | ot
copies of the same digit ; o pr——
(all zeros, all twos, or ] I o A > ......... 1 b

all fives). 10x Ox

In the large grid, the
digits within should
make the math-based
clue true; adding to a
given sum, multiplying B I
to a given product, etc. Ox Ox 25x 7+ |5+ 6+
A sample solution is :
given below. T | 4 111 | : o R Tor
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